YDS-YOKDIL-YKSDIL CALISMA FOYU 4
SIFAT — ZARF - iSiM
1) Verilen kelimeleri ingilizce ciimle dizilimini goz dniine alarak anlaml bir biitiin haline getiriniz.
Orn:
was long it the meeting for hours
-- The meeting was so long that it lasted for hours.

a)so the was thick that snow couldn’t we drive  through

b) at such important the seminar people met

c) are in issues too solve difficult to a short time

d) to the house affordable enough buy

e) metropolitan  such as have problems crime and overpopulation cities serious

2) Verilen ciimleleri, parantez icindeki s6zciikler ile ayni anlama gelecek sekilde yeniden yaziniz.

a) The movie was so exciting that we couldn’t even move for a second. (SUCH)

b) He asked so many questions that it was impossible to answer them in 20 minutes. (TOO)

c) Greece is not so prosperous as Luxemburg in terms of national income. (MORE)

d) She has written about such controversial topics as gender equality, racism and corruption. (LIKE)

e) His handwriting is worse than | expected. (AS)

f) The issue of melting glaciers is too complicated to work out shortly. (EASY)

g) Asia is twice as large as Europe. (THAN)




3) Asagida verilen ciimleleri uygun ifade ile tamamlayiniz.

enough that as like more most

a) Of all the proposals, this one is by far the profitable one.
b) Einstein had wisdom that it was impossible to be affected by him.
¢) Rising sea levels are a lot complicated than we can imagine.
d) Toads belong to the family as frogs.
e) The Welsh language has changed so little over the centuries one can still understand old versions of it.
f) Our journey is long to talk about our future plans. Let’s start!
few member were there at the meeting that it had to be postponed.
h) It was dark for the driver to make out the road due to heavy fog.
i) He served a statesman for years and then stepped down.

other organisms, plants are made up of cells.

4) Verilen climleleri ingilizceden Tiirkgeye geviriniz.

a) There is nothing more important than health.

b) Yemen is by far the least developed country.in the Middle East.

c) Getting a passing grade in TOEFL is not as easy as it seems.

d) France uses the same currency as Germany.

e) Some stars are too far away to see with naked eye.

f) The mayor spoke so soothingly that the residents left the square, relieved.

g) The more stress we have, the more problems we have.




ANSWER KEY
1) a) The snow was so thick that we couldn’t drive through it.
b) | met such important people at the seminar.
c) Some issues are too difficult to solve in a short time.
d) The house was affordable enough to buy.

e) Metropolitan cities have serious problems such as crime and overpopulation.

2) a) It was such an exciting movie that we couldn’t even move for a second.
b) He asked too many questions to answer in 20 minutes.
c) Luxemburg is more prosperous than Greece in terms of national income.
d) She has written about controversial topics like gender equality, racism and corruption.
e) His handwriting is not as good as | expected.
f) The issue of melting glaciers is not easy enough to work out shortly.

g) Asia is twice larger than Europe.

3)a) most b)such c)more d)same e)that f)enough g)so. h)too i)as j)like

4) a) Sagliktan daha 6nemli bir sey yoktur.
b) Yemen, Orta Dogu’daki acik ara (uzak ara) en az gelismis tlkedir.
c) TOEFL'dan geger bir not almak gériindigi kadar kolay degildir.
d) Fransa, Almanya ile ayni para birimini kullanmaktadir.
e) Bazi yildizlar ¢iplak gézle gérilemeyecek kadar ¢cok uzaktir.

f) Belediye baskani o kadar (6yle) sakinlestirici bir bicimde konustu ki bolge sakinleri rahatlamis halde meydandan
ayrild.

g) Ne kadar stres yasarsak, o kadar sikinti yasariz.
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